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KIAN KOK MIDDLE SCHOOL
JUNIOR ONE ENTRANCE EXAMINATION 2023

A (utiE: 50 948 )
MATHEMATICS (TIME: 50 MINUTES)

£ %38 INSTRUCTIONS
1. PH-2FA: 25 e M. 2B EALE, HRA2BBELASZELA L ey FHRE,
Answer all 25 questions in Section A. Darken the correct answer for each question on your answer sheet.
2. THA-AEERM: 5L M, EAEEITRENTOR/MNES. MAREL I RLAFREY,
Answer all 5 questions in Section B. Write your answer on the answer sheet. Show the mathematical working clearly.

Wil A 25 X 3% =75%
Section A: Objective questions 25 X 3% = 75%

1. 25481+9-5%x6 =7
Al B.2 C.3 D. 4

2. ETIHEXT, HE R A HF AR A?

?

In the following equations, what is the number in
7 1+ 3260 = 3981
A 4 B.3 C.2 D.1

3. —RAEIEAATEINTRENTNEZI A% %—B, FRCETAT S VESR?
An ant walks around the edge of the top cover of the carton as shown in the Diagram 1 below. How much
distance does it travel?

4cm ”
6 cm -
A1
Diagram 1
A.14cm /B2 X B.16cm /2 % C.20 cm/2 % D.24 cm /2 %k
4. 5550 49 30% =% V7
Calculate 30% of 5 550.
A. 1500 B. 1565 C.1600 D. 1665



5.

B2 87 F AR 46 5 45 R 698t ]

Diagram 2 shows the duration of school holidays.
Vil R
Start Finish

2021 4 Year2021 2022 F Year2022

1A JANUARY

11 A NOVEMBER
A2

Diagram 2

ARBER2E AN, THEERBHRAEZ S R?
How long are the school holidays?
A. 35 X /days B. 36 X/days C. 37 X/days D. 38 X/days

T 38T d KB R HES
Arrange the following numbers in descending order:

0.85 3 4 { 1 5
. ) 4 ) 5 ) 2 ) 4
1 5 4 3 3 5 1 4 1 5 4 3 3 5 1
A.1E,Z,0.85,E,Z B.O.BS,Z,Z,].E,E C.15,085,_,E,_ D.Z,_,0.85,Z,1E
TR TR RA T, BRRRR o
In the following figures, the largest area is
A. B.
5 cm 5 cm
12 cm 14 cm
C I D
L — 7 cm 8.cm
|
10 cm

—& RN A RM 468089, HITI010%/6 49146 & — & MBI 89245 o B M~ S )7
A computer originally priced at RM 4 680 is 2 times the price of a microwave after a 10% discount.

What is the price of the microwave?

A.RM 2574 B. RM2 106 C.RM 2105 D. RM2 056



10.

11.

12.

13.

T 7R —R & E 897

Which of the following is not true?

A.Zx51kg=85kg B. 32/NBF+45 24 = 4 M 35 24
5
3 3 hours + 45 minutes = 4 hours 35 minutes
c.8§l+z§l=10850m1 D.7§km+31—70km=74037m

H3ZT—AKTH,

Diagram 3 shows a rectangle.

RO

A3

Diagram 3
B3t ZeRFTHEGaIAS ) ?
What is the percent of the black rectangles in Diagram 3?

A. 28% B. 32% C.36% D. 40%
6NAx11 =
6 months X 11 =
A 5F5/ B. 5564/ C.6F5// D. 6564~ A
5 years 5 months 5 years 6 months 6 years 5 months 6 years 6 months

WA B 89-F 35 29.876, RS XA B EK
The average of the four numbers is 9.876. Find the total number of this group.
A.9.876 B. 19.752 C. 29.628 D. 39.504

Y BHaegd FR-FEITFENRR G LR, T 42 U 62475 A 2 4
8 A7
7 S The Cartesian plane in Diagram 4 shows the coordinates of four
6 locations. Find the coordinates of Points T and U.
5 v T U
o A (3.1) (4,7)
3 B. (1,3) (4,7)
2 < C. (7,5) (1,7)
! D. (4,7) (1,3)
0 > X

1 3 4 6 7 8
K4
Diagram 4



14. K527/ AR &K TR,
Diagram 5 shows two identical cuboids.

L]
.
L)
i
"F-----‘--.--:T ........
7 |
f"‘ rh-.-‘d-
'l F'
I"'
-
9cm
&5
Diagram 5

K TR AR E SR @ AR A 20 cm2, VA cm2h B 4n, it H A SR E mAR,
The area of the connected part of the two cuboids is 20 cm?2. Calculate the surface area of the composite

solid in cm2.
A. 228 B. 218 C. 208 D. 198

15. FiRéh pemde, BIRIRMIE LS iT B RS, hETHEFA, UTHFALFHHA:
The following shows the time displayed by the watch when you started walking from your class to canteen:

Ay, MXATFR, ATAFRIETa0E:
After arriving at the canteen, you looked at your watch again, and the following is the time displayed by
the watch:

WREMRIET 2 iR AHE S AT B R ?
How long did it take you to walk from your class to the canteen?

A. 25 % /minutes B. 544F/minutes C. 105 %4F/minutes D. 7045 %F/minutes



16.

17.

18.

19.

20.

21.

FHAIFELL00A, HRR E5%, BFLESEFEAMMN:, FFLFERSIAT

. 3
There are 1400 teachers and students in a school, 5% of them are teachers. S of students are male.
How many female students are there?

A. 532 B. 560 C. 798 D. 840

6L 7—&HH K,
Diagram 6 shows a group of number sequence.

: } ; t : t —>
1.22 P 2.32 0 3.97 R
Ee6

o Diagram 6

1+—’)a‘R - Po

Calculate R — P.

A.2.75 B. 4.52 C.6.29 D.9.71

T 3 AR — IR A AS IE 64 7
Which of the following is not true?

A.5% = 0.05 B.30% = 0.3 C. 65% = 0.65 D. 90% = 0.09

4o FE PR, K B&HE.
As shown in the figure below, find the value of B.

A+ B =8
+ o+
C -D=6
[T
13 3

A. 3 B. 3.5 C. 4 D. 45

SARIAEEIZE ] FMEA RM 19, #EK T 6 AT RM 30, F PR R 23R 5 VRS ?
The prices of the 5 same exercise books are RM 19. Min Min bought 6 exercise books and paid RM 30.

How much change should she get?
A.RM7.10 B.RM 7.20 C.RM7.30 D.RM 7.40

—iME a2 =21340 HF A4, EZHW08178 4Kk B4, HFEMETITRT % Jotia?
A bus left Town A at 2134 on Wednesday night and arrived in Town B at 0817 on Thursday morning.

How long was the bus journey?
A. 10/ 4354 B. 10/ 83454 C. 3. BF43 54t D. 3N B¢ 3494

10 hours 43 minutes 10 hours 34 minutes 3 hours 43 minutes 3 hours 34 minutes

5



22. R1ETWERI] — RO EALFZ,
Table 1 shows the toy production of the four factories in one day.

SIT WAL FEAAETHE R, RORLT FHERAE
5 N A —FWRAL
B 5B/ 1803 A, fr,?rSJ‘_}’ iéﬁ_fm,‘i/igo
LJ [Factory Quantity of toy The toy production of the Factory S is not shown. If the four

factories produce average of 180 toys per day, calculate the toy
production of Factory S in one day.

T 157

A. 45

© 220 B. 157

Y 169 C. 174

s ? D. 366

*1
Table 1

23. ETFTIHFX¥P, Katylh,

Find the value of a in the following equation.

3+6+ 8 = 0.368
10 a 1000

A. 10000 B. 1000 C. 100 D. 10

24, KRB AFKk AL RAKMNIH #4:3, FA LA S14A, FHEXRAGEL T AK.
The ratio of the number of boys to girls in a Martial Arts Club is 4: 3. The numbers of boys is 14 more
than that of girls. Calculate the total number of Martial Arts Club members.

A. 28 B. 42 C.56 D.98
25. 1
)22 é‘ £ 1 %?
10 000 20169 % U4
How many times does 0.1 go into ?
10 000
A. 0.001 B. 0.01 C.0.1 D.1.0



L4 AR 25%

Section B: Subjective questions 25% Section B

25

1. HH: 94484 -7 = o
Calculate: 9 minutes 48 seconds <~ 7 = seconds.

A%/ Answer:

2. ABR—ANANFERARMIS0, L —GHFAE, R RERL—NAFHRG—F,
The school fee for school A is RM 350 per month. Shuan Shuan is an elite student on scholarship, so she

only needs to pay half of the fee per month.
D el BEEFEABERIHUCEFNEE, FREEGEERRES VR

F

Now, Shuan Shuan's mother wants to pay her school fee for half a year in advance. How much should she

pay?

A%/ Answer:

by FEEHEFRFTI0KRM 100, FFIREE S V&7
If Shuan Shuan's mother had ten RM 100 notes only, how much money was she short of?
%% / Answer:




AN WHE, TP RHLER, ARGTFIRSE. APIBRBFORALFRS
Y cm?
Tom has a 4.5 m ribbon, § of it is used to tie a gift box, the rest is divided into 5 sections. What is the total

length of 3 sections of ribbon in cm?
%% / Answer:

K72 +~ARFREM.
Diagram 7 shows two laptops.

[ RM 3650 ] RM 4090

4= 8% /
Discount 8%

Hrd= 15% /
Discount 15%

&7

Diagram 7

RALEZELE —RFREE, R—RREE? Lg% VK?
Mr. Song wants to buy a laptop. Which is cheaper? How much does he pay?
&%/ Answer:




5.

b)

B 8 & & —AK 75 Ae— AN B 77 S P 2 mk 09 43 6 B TS o

Diagram 8 is formed by one rectangle and one square.

NN

4.5cm

\

|

13 cm

—ANKFHEKERI13 cm A EER6.5cm. —ANEFHiL K H4.5cm.

6.5 cm

The rectangle is 13 cm long and 6.5 cm wide. The square has a side of 4.5 cm.

vhem A4z, it H AR KB R K.
Find the perimeter of the shaded part in cm.
&% | Answer:

VAem?H 4z, H A X RG LR,
Find the total area of the shaded part in cm?.
&% | Answer:

©




